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4) A savings account balance 1s compounded
continuously. If the interest rate 1s 3.1% per
year and the current balance 1s $§1077.00, in

how many years will the balance reach
$1486.73?



(n 138 = 6031t

0.3 = 0.03(€
f = /0.9 ycor.s
v G

™\

/
= Kt — PoPUATIIN 6) During the exponential phase, E. coli
j = AC - bacteria in a culture increase in number at a
€|~ [FAe rate proportional to the current population.
y: K = Rate FacTor [f the population doubles in 20.4 minutes, in
@ =0 ) A - Fp ouT, how many minutes will the population
k(o ' triple?
oA
v =A

A qUALS INTIAC  POPULATION a \‘JI/
— —
N Roup e 8 "W 20.9 min To Fno K

y Ak



= A 60-033‘)‘6
(porucaTion x 3)

€ =349 mn



